In[16]:= P'Lot[{G Si n[z t], 384 n[z t]}, {t, 0, 10},
PlotLegends » {"Hg", "HR"}, AxesLabel » {"t", "V, A"}]
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in4s)= Capacitance = 0.2;
P'Lot[{l/(z «Pix f« Capacitance)}, {f, 0, 100}, AxesLabel -» {"f", "Xc"}]
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n@El= Inductance = 0.2
P'Lot[{z «Pi« f« Inductance}, {f, 0, 100}, AxesLabel - {"f",

XL
120F
100
8o
Out[4]=
aof
20f

1 L L L 1 L L L 1 L L L 1

I I I I 1
20 40 60 80 100

f

nel= Plot[{6 Sin[2t], (2x0.2+6)Sin[2t+{Pi/2}]}, {t, 0, 16},
PlotLegends » {"Hg", "HR"}, AxesLabel » {"t", "V, A"}]
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nisi= Plot[{2+0.2x6)Sin[2t+{Pi/2}|, 6Sin[2t]}, {t, 0, 16},

PlotLegends » {"Hg", "HR"}, AxesLabel » {"t", "V,
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